Решения. Тур 1
В скобках приведены начисляемые очки.
K – король; Q – ферзь; R – ладья; B – слон; S – конь.

	№1. В. Иванов, Р. Залокоцкий, 2011 г.

1.Bc1! (+5)

	№2. В. Иванов,2007 г.

1.Qd3! ~ 2.f8Q      (+1)
1...Bf1(g2) 2.f8S+ (+2)
1...Ke5 2.Bd6+      (+2)

	№3. А. Феоктистов, 2008 г.

1.Qa3! ~ 2.Qc1# 

1...Kd2 2.Bb4+ Kc2 3.Qc3+ Kb1 4.Ba3   (+1,5)
1...Kd1 2.Qd3+ Ke1 3.Qd4 f1=S 4.Bb4+ (+1,5)
1...Kf1 2.Qh3+ Ke1 3.Bb4+ Kd1 4.Qd3+ (+1)
                    2...Kg1 3.Qg3+ Kh1 4.B:f2   (+1)

	№4. С. Абраменко, 2022 г. (публикуется впервые).

1.Bc4+ (+1) Ka3  2.B:d5 B:a4 3.Sc4+ (+1) Kb3  4.Bg8 (+1) Be8 5.Sd6+ (+1) Kc3  6.S:e8 +- (+1) c выигрышем.



	№5. С. Абраменко, 2022 г. (публикуется впервые).

1.b7? Bg2+ 2.Ke5 B:b7 3.a:b7 Bc1!! 4.b8=Q+ Bb2+ 5.Ke4 Se6! и 6.Sd4 – крепость, =

1.Kf3! (+1) Bd7  2.b7! (+1) Bc6+ 3.Kg4! (+1) B:b7  4.a:b7 (+1) Bc1 5.b8Q+ (+1)  c выигрышем.



	№6. С. Абраменко, 2022 г. (публикуется впервые).

1...Rb1+ 2.Qc1 (+1) R:c1+ 3.Ke2 (+1) Rc2+ 4.Kd1 (+1) Rc6  

5.Rh8+ Kg7 6.R:h2 Rd6+ 7.Rd2! (+1)  R:d2+ 8.K:d2 +- (+1)
c выигрышем.


